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[252) 2) SN B 5E, b BUEpaT, A —AKoguh (Zuh, 7t , #4E3] 1955
ER 1982 EMER KUK R TR, B 6 4, s TR, R 22 S sLiR &
POkl RIS ER L, A — K (R, 3585, af DA S] 1951 424 1982
FEEESE 32 I RN KR E TR PR AR AR S ACARABL, 400 PR O ) & B R X 2
i R B TORMEAT A S

BT, tHREATRES, IFR 2k IR SR BEAT SR AN IE S

[ A Eﬁiﬁ?f:ﬁ% Zﬁﬁ?}?% [ Eﬁﬁﬁ?ﬁ;ﬁ% Zﬁﬁ?ﬁ;ﬁ%
Qx(m*/s) | Qy(m'/s) Qx(m*/s) | Qy(m/s)
1 1951 964 — 17 1967 4440 —
2 1952 2299 — 18 1968 2702 —
3 1953 1645 — 19 1969 755 600
4 1954 1938 — 20 1970 2000 1530
5 1955 2643 2000 21 1971 2420 2170
6 1956 2757 2380 22 1972 1870 1650
7 1957 2549 2100 23 1973 1060 —
8 1958 3359 2600 24 1974 3710 —
9 1959 3997 2950 25 1975 1900 1300
10 1960 4093 — 26 1976 2180 1850
11 1961 2840 2500 27 1977 1350 900
12 1962 1160 1000 28 1978 4920 —
13 1963 1560 1100 29 1979 2385 1900
14 1964 2470 1360 30 1980 1200 1080
15 1965 2150 1480 31 1981 1300 1010
16 1966 3025 2250 32 1982 2360 1700

(9551 3 JHrdt A~ e g BL it b, X SLrp 2t — B B AT IR SE U AT R A, TR SRS
R EE R 534 96.4%. 95.4%. 93.5%. 97.3%. 96.3%. 95.8%. 95.9%. 96.7%. 95.3%.
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